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 "z-Statistique"  =      5%  )=

1.96 (  :  

Variable Coefficient Std. Error z-Statistic Prob.  

X1 -3.789230 1.638690 -2.312353 0.0208
X2 8.62E-05 2.91E-05 2.968143 0.0030
X3 -0.727233 0.456279 -1.593833 0.1110
C -3.820692 2.157598 -1.770808 0.0766

McFadden R-squared 0.659985    Mean dependent var 0.480000
S.D. dependent var 0.504672    S.E. of regression 0.251824
Akaike info criterion 0.630816    Sum squared resid 2.917103
Schwarz criterion 0.783778    Log likelihood -11.77041
Hannan-Quinn criter. 0.689065    Deviance 23.54082
Restr. deviance 69.23470    Restr. log likelihood -34.61735
LR statistic 45.69387    Avg. log likelihood -0.235408
Prob(LR statistic) 0.000000

Obs with Dep=0 26     Total obs 50
Obs with Dep=1 24
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-         | | = 2.312 > 1.96  | | = 2.968 > 1.96 /   < 0.05  

-    | | = 1.593 < 1.96/  > 0.05 

2( : 

  )LR = 45.357  (  2    0.95 3          
. = 7.81 < 45.69 /   < 0.05  

3(  : Pseudo-R²   

 R  = 1  ( )
( ) =   .
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= 1 0.34 = 0.66  
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5( :   

3.82 3.789 X  + 0.000086 X  0.7272 X    

Success cutoff: C = 0.5

           Estimated Equation            Constant Probability
Dep=0 Dep=1 Total Dep=0 Dep=1 Total

P(Dep=1)<=C 24 2 26 26 24 50
P(Dep=1)>C 2 22 24 0 0 0

Total 26 24 50 26 24 50
Correct 24 22 46 26 0 26

% Correct 92.31 91.67 92.00 100.00 0.00 52.00
% Incorrect 7.69 8.33 8.00 0.00 100.00 48.00
Total Gain* -7.69 91.67 40.00

Percent Gain** NA 91.67 83.33

           Estimated Equation            Constant Probability
Dep=0 Dep=1 Total Dep=0 Dep=1 Total

E(# of Dep=0) 22.71 3.29 26.00 13.52 12.48 26.00
E(# of Dep=1) 3.29 20.71 24.00 12.48 11.52 24.00

Total 26.00 24.00 50.00 26.00 24.00 50.00
Correct 22.71 20.71 43.42 13.52 11.52 25.04

% Correct 87.34 86.29 86.84 52.00 48.00 50.08
% Incorrect 12.66 13.71 13.16 48.00 52.00 49.92
Total Gain* 35.34 38.29 36.76

Percent Gain** 73.63 73.63 73.63
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  65000  4   :  

3.82 3.789 (0)  + 0.000086 (65000)  0.7272 (4) 1.1395 

              = .  

               = 0.3199 

               = ( )0.3199 

               =
0.3199

1 + 0.3199
= 0.2424 
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0.2212 0.1947
0.5276 0.3543
0.7135 0.3581
0.8262 0.3041
0.8946 0.2371

= ) (0) Z( 

   :Z( ( ))  Z ( )  

Z( ( ))  Z ( ) = 2.3193 0.9488
0.9488 0.4404  
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Z( ( ))  Z ( ) = 0.4404 0.9488
0.9488 2.3193   

  

[Z( ( ))  Z( ( ))] =  
1

0.121 0.4404 0.9488
0.9488 2.3193 = 3.6393 7.8415

7.8415 19.1671  

 
-   = Y f(x, ( )) + ( ) ( ) 

=

0.28
0.57
0.68
0.74
0.79

0.2212
0.5276
0.7135
0.8262
0.8946

+

0.2212 0.1947
0.5276 0.3543
0.7135 0.3581
0.8262 0.3041
0.8946 0.2371

1
1 =

0.4747
0.9243
1.0381
1.0441
1.0271
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( ) = 3.6393 7.8415
7.8415 19.1671

 
3.1148
1.3527

=  
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1.5019
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